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The absolute maximum value of g  on − 2 ≤ x ≤ 5 will occur at
a critical point of g  on the interval or will be g(−2) or g(5).
g '(x) = f (x)

g '(x) = f (x) = 0⇒ x = −1,  
1
2

,  5

g(−2) = f (x)dx = 0
−2

−2

∫
g(−1) = f (x)dx = 1

2−2

−1

∫
g

1
2

⎛
⎝⎜

⎞
⎠⎟
= f (x)dx =

−2

1/2

∫
1
2
− 3

4
= − 1

4

g 5( ) = f (x)dx = 1
2

(1)(1)− 1
2

3
2

⎛
⎝⎜

⎞
⎠⎟

(1)+ 1
2

3
2

⎛
⎝⎜

⎞
⎠⎟

(3)+ 32 − 1
4
π 32( )⎛

⎝⎜
⎞
⎠⎟−2

5

∫ = 11− 9π
4

  (see part (a))

The absolute maximum value of g  on − 2 ≤ x ≤ 5 is  11− 9π
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(d) 

  

Note : We can see that f  is both continuous and differentiable at x = 1.
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